The irregular verb: eo, ire, ivi, itum - go
i (there is an alternative 3™ principal

part)

e This verb is not as irregular as the others we have been learning.
e The present tense is only irregular in the 1% person singular and

the 3™ person plural.

e The imperfect tense is actually regular
e The future tense is only irregular because a 4™ conjugation does

not use —bo, bi, bu.

present tense

eo-1 go Imus — we go
IS- you go itis-you go
it — he goes eunt-they go

Imperfect tense

ibam — | was going, | used to go |ibamus
ibas ibatis
ibat ibant
future tense

ibo- | will go ibimus
ibis ibitis
ibit ibunt

e The perfect follows regular steps.
e This verb is very small and it often confuses students because it
looks more like endings than an actual verb form. Be careful

when reading and translating




